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QUESTION 1

Given the records from the STUDENT table: 

Given the code fragment: 

Assume that the URL, username, and password are valid. 

What is the result? 

A. The STUDENT table is not updated and the program prints: 

114 : John : john@uni.com 

B. The STUDENT table is updated with the record: 

113 : Jannet : jannet@uni.com 

and the program prints: 

114 : John : john@uni.com 

C. The STUDENT table is updated with the record: 

113 : Jannet : jannet@uni.com 

and the program prints: 

113 : Jannet : jannet@uni.com 
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D. A SQLException is thrown at run time. 

Correct Answer: D 

 

QUESTION 2

Given the code fragment: 

and the information: 

The required database driver is configured in the classpath. 

The appropriate database is accessible with the dbURL, username, and passWord exists. 

What is the result? 

A. A ClassNotFoundException is thrown at runtime. 

B. The program prints nothing. 

C. The program prints Connection Established. 

D. A SQLException is thrown at runtime. 

Correct Answer: C  

 

QUESTION 3

Given the code fragment: 

List list1 = Arrays.asList(10, 20); List list2 = Arrays.asList(15, 30); //line n1 

Which code fragment, when inserted at line n1, prints 10 20 15 30? 

A. Stream.of(list1, list2) .flatMap(list -> list.stream()) .forEach(s -> System.out.print(s + " ")); 

B. Stream.of(list1, list2) .flatMap(list -> list.intStream()) .forEach(s -> System.out.print(s + " ")); 
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C. list1.stream() .flatMap(list2.stream().flatMap(e1 -> e1.stream()) .forEach(s -> System.out.println(s + " ")); 

D. Stream.of(list1, list2) .flatMapToInt(list -> list.stream()) .forEach(s -> System.out.print(s + " ")); 

Correct Answer: A 

 

QUESTION 4

Given: 

class RateOfInterest { 

public static void main (String[] args) { 

int rateOfInterest = 0; 

String accountType = "LOAN"; 

switch (accountType) { 

case "RD"; 

rateOfInterest = 5; 

break; 

case "FD"; 

rateOfInterest = 10; 

break; 

default: assert false: "No interest for this account"; //line n1 } System.out.println ("Rate of interest:" + rateOfInterest); } } 

and the command: 

java -ea RateOfInterest 

What is the result? 

A. Rate of interest: 0 

B. An AssertionError is thrown. 

C. No interest for this account 

D. A compilation error occurs at line n1. 

Correct Answer: B 

 

 

QUESTION 5
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Given: 

and this code fragment: 

What is the result? 

A. Open-Close– Exception – 1 Open–Close– 

B. Open–Close–Open–Close– 

C. A compilation error occurs at line n1. 

D. Open–Close–Open– 

Correct Answer: C 
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